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deposit_on_vl (n: STRING; a: INTEGER)
require across accounts as acc some acc.item.owner ~ n end

7|(¢<€ local i: INTEGER

] do
from i := accounts.lower
(\M‘A . .

until i > accounts.upper

loop
if accounts[i].owner ~ n then accounts|[i].deposit(a) end
i =1+ 1

num_of_accounts_unchanged: ﬁ,
accounts.count = old accounts. coun_t/ﬂ—__fi___\
alance_of n_increased:

-T[E]account ofjf)l balance —rld account of (n) . balaa + a
end N
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ACCOUNT ACCOUNT

“Bill” “Steve”

balance balance

class BANK
deposit_on_v2 (n: STRING; a: INTEGER)
require across accounts as acc some acc.item.owner ~ n end
local i: INTEGER
do

accounts [acce

ensure
num_of_accounts_unchanged:
accounts.count = old accounts.count
balance_of n_increased:
account_of (n).balance = old account_of (n).balance + a
end

end
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class BANK
deposit_on _v3 (n: STRING; a: INTEGER)
require across accounts as acc some acc.item.owner ~ n end
local i: INTEGER
do

deposit

accounts [accounts.lower] .deposit (a)
ensure
num_of_accounts_unchanged: accounts.count = old accounts.count
balance_of _n_increased:
account_of(n) .balance = old account_of(n) .balance + a
others_unchanged—

gccount_of (cursor.item.owner)
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en

end




